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NEW
2016
Part-1 3-Tier
BOTANY
PAPER—I
{General)
Full Marks : 90

Time : 3 Hours

— The figures in the margin indicate full marks.

Candidates are required to give their answers in their

own words as far as practicable.

Rlustrate the answers wherever necessary.

Group—A

1. Answer any ten questions of the following : 2x10
)
(a) What is plasmid ?
(b} What is peristome teeth ?

(Turn Quer}



() What is Transformation ?

(d} What is Fuller’s Earth ? Where is it found ?
(e] What is Coal-ball ?

{f) Difference between homospores and heterospores.

Give example.
(g} What is called rhizophore ? Give example,
(h} Mention two symptoms of bacterial blight of rice.
(il What is Floridean starch ? Where is it found ?
(i) Define infection.

(k) Give atleast four diagnostic features of the famil

Apocynaceae.
(1} What is callled anemophily ?
{m) What is meant by coenobium ? Give example.
(n} What is nurse cell ?

(0) What are coralloid roots ? Cite one example.
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Group—B
2. Answer any five questions of the following : 8x5

fa) (i} Draw and describe the structure of Tobaco

Mosaic Virus {TMV].

(i) Discuss about the economic importance of

bacteria. 4+4
(b) (i) Describe with sketches the auxospore formation

in centric diatom.

{iij What is called pyrenoid ? 6+2

(c} (i} Discuss about the sporoplyte of Riccia.

{iiy What are the importances of fossil study ?
4+4

(d) (i) Discuss about the disease cycle and control

measure of late blight of potato.

(iiy What are the contrivances of self-pollination ?

4+4
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(e} Mention differences between the following (any two} ;
(i) Malvaceae and Cucurbitaceae ;

(1) Poaceae and Liliaceae ;

(tif) Papilionaceae and Caesalpiniaceae 4x2

() Describe with label diagrams of different types of

placentation. 8

(8} Give an outline of Takhtazan’s system of classification
(upto subclass). Mention one merit and one demerit

of this classification. 6+2

(h) (i) Classify symptoms with suitable examples.

(i) Discuss about the procedure and maintenance of

herbarium. 4+4

(i) Give the botanical names in each case with family and

respective used parts :

{1} One important medicinal plant ;
{2} One timber yielding plant ;

{3) One fibre yielding plant ; and

{4) One rubber yielding plant. 2x4
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Group—C

3. Answer any two questions of the following : 15%2

(a) (i)

(1)

{(b) i)

{ii)

Classify Gymnosperms (according to Sporne,

1965) upto class with characters and examples.

How a typical normal (8-nucleate} embryosac is

developed. 8+7

Discuss on the types and processes of

fossilization.

Discuss on the processes of seed dispersel.
1045

(¢} Write notes on :

(i)

(i)

Different types of aestivation ;
Primitive features of Blue Green Algae (BGA) ;

Cultivation process of Betel leaf. It3+3

Classify economically important fibre and

~ vegetable oil yielding plants.

What is Geological Time Scale ?

Write the characters of Deuteromycotina.
8+3+4
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{e) (i} Write the developmental process of male
gametophytes of Gnetum and Pinus. Write

gymnospermic characters of Gnetum. Mention

one tree species of Gnetum. What is cupule ?

(iij What are the differences between angiospermic
‘ endosperm and gymnospermic endosperm.

(4+4+2+1+2)+2
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